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COMMERCE AND ACCOUNTANCY
Paper 1
URTSTTRINN O ¥ TTRT RN [ Maximum Marks : 300
INSTRUCTIONS

el quenstion is printed both in English and in Kannada.

Answers anust be written in the medium specified { English or
K.mada b inthe Admission Ticket issued to you, which must be
stated olearly on the cover of the answer-book in the space
providled lor this purpose. No credit will be given for the answers
willten insomedium other than that specified in the Admission
Prejeet

Candidares shonld attempt Question Nos. 1 and B which are
compnlsory, and any three of the remaining questions, selecting at

b b eopiee querstion from each Section.
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SECTION - A
1.  Answer any three of the following each in about 200 words :
{a} Limitations of Historical accounting in inflationary conditions.
(b) Appointment of auditor for a company.
{c} Valuation of the perquisite of car under the Income Tax Acl.
{d} Reconciliation of cost and financial accounts.
2. (a) What is a variance ? Indicate its significance tc management.

(b) Mr. Kiran is employed with Surya Tubes Ltd. as a Sales Manager. He submits
following details regarding his emoluments for the year ending 31. 03. 2002.
You are required to compute his income from salaries,

Rs. (p.m.}
i Baslc Salary 30,000
i) Dearness Allowance { noel forming part of salary ) 7.500
flii} City Compensatory Allowanee 2,500
{ilvi House Rent Allowance 10,000
(v} Rent paid by Kiran 12,000
{vi) Children's Hostel Allowance lor 3 clifldren 600
(vli) He is provided with a car of 15 hp. with chantffeur. The

car is used for both private and olfice work.

(vil) The employer has given hbn & loan of Rs. 6,00,000 @ 4%

interest for purchase of a flat under construction. The loan
has been taken on 01. 12. 2001 and the repayment is yet
to start,

(ix}) He was allowed to use a video camera and a laptop by
the employer. The employer has purchased these
assets at Rs. 45,000 and Rs. 1,25,000 respectively on
22, 02, 2001.
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TR - A
1  39NT cIRFYrnoe Setd, Zacdoonta, RN 200 [TV, L3 o:
(@) Tromdey O TOR ML) b mR-0F LedNe 230N
(b) 2.0tk BoTR0D <8, WO ReTER desmod
(c)  wmed 307 $LACHINE BHIFET0Z ZELND> T0OS XomEIed AU, 0ES

(d) [y, 3@, shre dend TOZpomvedd | Reconciliation of cost and financial

accounts )

2. (@ SxO\ (Varlance ) oomde 7 AnraRohd) 450 B[R AHUL.

(bl (B¢ $8*CHD TR0 T, [EOVN ZREBF LA,IT OLUETRY, UK ATFLEE N B,
D8 31. 3. 2002 ¢ $a30 oS0 TUTREE OTUTRY, 8 sVEord SKonam 8. uss
TOWWE & ehTRy, &8, TR ¢ '

ca. ( sorert )
(i} Tepw Kowe ( Basic salary ) 30,000
() 2, (Rowds nainT ) 7,500
(i) =no XoTens 33, 2,500
V) % wan e, | 10,000
(v) S0 o #ou TR 12,000
(Vi) 30m°0 3 DY TR o Dedr 600

(vii)  &I0r 18 hp o3¢, TR, B T0T BB EABRND, ¢ MO, ST
%088, TIML WLHLT® FODFER, Fdeehmoz 8.

(vili) 30mORON ¥O IRdesTy Tn. 6,00,000 373, 4% wR, 0303
B33, 008 edebmy, 3Ty en memh 4k hE T mOTRY
1. 12, 2001 50T 8L 003.0. SOTIRINTY, *RA, T00RE
tdesuhcl.

(x)  oocdat BTy ), o3Tmds) wwdclecAze: 0m0N0  Zndosc:
R, AT Y. APrivRy, &30 §mA 8r. 45,000 T8, Oa. 1,225,000 nent
22. 2. 2001 ot DoeHum 8.
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(a)

(b)

4

Discuss the various techniques used for segregating fixed and variable
elements in a semi-fixed cost.

A Ltd. and B Ltd., agreed to amalgamate and form a new company C Ltd.
which will take over all the assets and liabilities of the two companies, In the

‘case of A Ltd. the asset and liabilities are to be taken over at book value

for shares in € Ltd. at the rate of 5 shares in C Ltd. at 10% premium
( i.e. Rs. 11 per share} for every four shares in A Ltd.

In the case of B. Ltd. .

) The debentures of B Ltd. would be paid off by issue of an equal number
of debentures in C. Ltd. at a discount of 10%.

(i} The holders of 6% preference shares of B Ltd. would be allotted four

7% preference shares of Rs. 100 ¢«

shares in B Ltd.

(iifj The equity shareholders would be allotted sufficient shares in

wh in € Ltd. for every five preference

C Ltd. to

cover the balance on their accounts after adjusting asset values by

reducing plant and machinery by 10%

debtors.

and providing 5% on Sundry

The summarised Balance Sheets of the {wo companies prior 10 amalgamation

were as follows .

A Ltd. B Ltd.
Rs, Rs.

Equity share capital of Rs. 10 each 4,00,000 5,00,000
6% Preference Shares of Rs. 10 each — 3,00.000
4% Debentures - 2.,00,000

Profit & Loss A/c 5,.00,000 —

Contingency Reserve 50,000 —
Creditors 75,000 30,000
10,25.000 13,90.000
Plant & Machinery 8,00,000 8,00,000
Stock 65,000 60,000
Debtors 95,000 5G,000
Profit & Loss A/c e 1,40,0G5
Bank 65,000 40, 0006
10,25,000 10,890,000

Show the journal entries in the books of A Ltd.

Balance Sheet of C Ltd.

and B Ltd. and show the
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3.0 (@) wedy i RYBO, ( Semi-fixed cost ) 30 Iy, TRTEEDT TR,ATY, T3, eaxen
ero:im.@eﬁ,@ai el Desod 303 nesy, 0o Jz&m

b) ‘o omMm HE, ‘© Onus® otds Todsentoom: ‘A e‘::a:u?m Q0% BRX
BOTRONT; CUARD:. ©XC Q0B $oIANY ooy, HANRY TE), I ONYR)
NndcoBBW. ‘o’ O By, T, wIn DRYRY O3 ws"?»e.a c:%e ERROE e
5 Bechniv Z0wd. 10% @e@ooﬁ:oaﬁoé (eocﬁd Gt Jeort 0n. 11 00d) ‘@’ Oooudes 53
4 Beoore: o BOrESRTIAG. '

oo’ &olEs DTEDTE, :
TH| 10% 2Anel WAL, ‘" Qo ST, &woﬁoﬁ“ﬁ#m ‘3 doodEss m—ma :'dosd o3
tatatatX loptal>ptalhi ik S lartataf

iy ' OoouE's 6% BT Bedonivny, P& wmd B33 Beoonort ‘A QTR %
2e0r) e, 100 ol T, T% T, seddﬁmh aozsmhd

(i) e3¢ dﬁ msﬂﬁ&‘o LHTARD 830 A m"?o nyd. o..,os 5,3.; ?:“m:ﬁrw 2oeed
) , 10% m::t a:bsérieé e 5% X W, 3036 ‘2’ @muwn mrmaﬁaﬁ 48 23
aﬁecbrimh Totennd.

/ SUBE FOTAN wATy,ME T0F, ST Tod T, vl B8R 85 dunToss.

* M 2’ OLokdme
fo¥o) o,

81,3 BeO) Loy (J@ Bect Sn. 10 Bod) 4,00,000 5,00,000

6% T8,3 Beoene (T3 aSecb B, 10 dod) — 3,00,000

(" 4% B2lossensd —_ 2,00,000
H Tyl BB, 8y, =3 5,00,000 —
" BB 3 QRN 50,000 —

Zednes ( Creditors ) 75,000 90,000

o 10,25,000 10,980,000

10 —_ —

%y 50 w3, 03, 8,00,000 8,00,000

0 Lo 65.000 60,000

Ay aedriah. ( Debtors ) 95,000 50,000

e o3 BB, I, a=d — 1,40,000

“ 173,088¢) 2T 65,000 40,000

10,25.000 10,90.000

HIWI

" e ahEy, ' Candmtd deets YT ENESy ol ::‘:3- bY e;? .Scaﬂ‘ Chpn
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4. (a) Explain in brief the special points in audit of a general insurance company.

(b) Farukawa Ltd. produces two products and its budget for 60% level of activity
for the year is given below :

Particulars Product ‘A’ Product ‘B’
Rs. Rs.
Raw material cost per unit ' 7-50 3.50
Direct labour cost per unit 4-00 3.00
Variable cost per unit 2.00 1.50
Fixed cost per unit 6-00 4.50
. Selling price per unit 20-00 15-00
Units Units
Production and Sales 4,000 6,000

The managing director not being satisfled with the projected results as stated
above, referred the Budget to the Marketing Manager for improving the
performance. The Marketing Manager proposed that the sales quantity of
products A and B could Be increassed by 50% provided the selling prices
were reduced by 5% in the case of product A and by 10% in the case of
product B. The price reduction should be applicable to the entire quantity of
sales of each of the products.

() Present the overall profitability under the original budget and the revised
budget after taking the increased sales into consideration.

() Find out overall Break-even Sales under the original budget and the
revised budget. '
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) 2000 ZERE, LER soIued <8, TOBRc Incbann nmwo o2 ToURALL ! saaSeau
SOBNVR, Xod 3 N HITOL.

() PET ODMT® 20 B[V, NIORI D Iy, SRFBY, 6oo wWaoTide
60% ToT Inona T3, 8t dAT0AS:

orics gy D omg W
L0830 FHLaee, s dury, IROR W, 7.50 3.50
2000 PHES 3,8, as Sy, 4.00 3.00
Lord FUSE 630 ey, 2.00 1.50
2,00 BUBE A0 2ed, 6.00 4.50
2,00 U RO S 20.00 15.00

pusnied g

NI, B, BRoW3 4,000 6,000

B, ST e BB, TRo I , 553,180 MY, @ed3 Snorid TITRY nabsy, Iom
FOXCTNON BTN ,8,304 Toode ATRFBROLTY, RTOMEE LD SOUTT). Lt -HRTH
B,T5,TE0, WFF, ‘2’0 BURE, 5% @ wIF, ‘W o ToERy 10% WADY,
FERoIWTRY, 50% BRI Q0 FOFB w30, ZRowwid vl asqm: Fdodnorisn, 3
Ocdnce damean.

i =wow 3?{‘1535; Foneadnt InéroR X030 BendR m:or{cs T, 3By, Jox™,0T
H00NE BITF DO BPK, DVTOBTE,, EON,

i) JIATO= ZIoonz T, T, TOF, AT oonzd WETZ ZOTOX XX, 750!0&354_5,0‘ ( Break-
even ) anmuaag dor ke bachod.

’ RTINS
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SECTION - B
5. Answer any three of the following, each in about 200 words :
a) Elucidate briefly the recommendations of Chore Committee.
(b) Distinguish clearly between Negotiation and Assignment.

() “According to Walter's Model the optimum payout ratio can he either zero or
100%.” Explain the circumstances when this is true.

(d) Explain the operational policies of ICICL.
6. (a) Explain the concept of Economic Order Quantity.

(b} 8. Ltd.has following Capital Structure : Rs,
Common Shares ( 2.,00,000 Shares ) 40.00,000
6% Prefe;ence Shares 10,00,000
8% Debentures 30,00,000

80,00,000

The common share of the company sells for Rs. 20. It is expected that the
company will pay next year a dividend of Rs. 2 per share which will grow at
7% forever. Assume 50% taxation.

() Compute a weighted average cost of capital on existing capital structure.

() Compute the revised weighted average cost of capital if the company
raises an additional Rs. 20.00.000 debt by issue of 10% debentures:
This would result in increasing the expected dividend to Rs. 3 per share
and leave the growth rate unchanged, but the price of the common share
will fall to Rs. 15.
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5. 8 BeNT SNTTE0E e0E, TIA0EEA, RN 200 SERYY, Y004

| (a) 80ed BaoLio SIRORYIVAy K08 R 0.

(b) Zopew ( Negotiation ) 33 XToddess ( Assignment ) Ay S8 §,30,3T
IS0

(0) ‘moe)OR e 08,0d TET, H3,E I DUFS WRWETY) Lode JAT, BT 100%."
B3, em8 KOTIFRE, sy, 00 JROX.

(d) ICICI & BacRFOGE QesneRy ATON.
6. (@) &% 5 HoSRes { Economic Order Quantity ) I0Eg 003y HTOA.

(b] ‘0%’ OmileT 83 8RS woRiew KoguReby, deoll:

Los5nd, Becontey ( 2,00,000 Begonied ) dn. 40,00,000
6% Sﬁéai Besariads on. 10,00,000
8% Bloradoriyh Cn. 30,00,000

T&. 80.00,000

goTdncks Mmung, Beoonemy, Cp. 20 0od InoeF . Suchd IHREY, goTACI wE BeLd
OR. 2 002 aodon® dnten A0 AL, 6T 7% I aododrts Wecnd . 50% 3ot ach
Satol.

i) S%3 200y XooWR0H dhed 0BTVE BOE,E KOWRD iy HT3 0B,

() 10% 2oUcHRdy, SART SUAWE FOTROL WORTRYRTY, YA 73, ¥A. 20,00,000
Iy Bdoen IOWE e0E3 10O BT <8, SNk, <Ed THTSE Zd L
gn. 3 003 20¢¢,3 andon® I 3l w3, oom dvdninchd canmde e
2 St 8, ¢l nIng, 2007 U 0. 15 Fashennd
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5 7. (a Explain the important sources for financing long term investment.

()  From the following information you are required to estimate the net working

capital :

Cost per unit

Rs.

Raw material | 400

Direct Labour 150

Overheads ( Excluding Depreciation ) 300

Additional information :

Selling price ) Rs. 1,000 per unit
Output ) ' 52,000 units
Raw material in stock Average 4 weeks
Waork in progress { assumed 50% completion

stage with full material consumption ) Average 2 weeks
Finished goods in stock Average 4 weeks
Credit allowed by suppliers Average 4 weeks
Credit allowec to debtors | Average 8 weeks
Cash at bank expected to be o Rs. 50,000

Assume that production is sustained at an even pace during 52 weeks of the
year. All sales are on credit basis.
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7. B DITESD Bromm Boaledd) T I shaendRy Qnba,

- -

b} & #gA3 QoYY Iodeds BT ¥ Bordee woBEmey { Net working capital } &=,

SOOI WRA:
TS Puse ey,
o2,
g5y, TR 100
T8, T8l ( Direct labour ) - 150
. E.’L)EddtL ( Overheads ) (Zzze wkdy)) 300
.9@53‘ QT
=nows od dR. 1,000 (e.0m> Fusd )
033,03 { Output ) 52,000 Fesne:
gury, Sen o8 TLTXD 4 wgnsh
Bridon o sox (s, SRR o,
OBOSRNATTNG 233, 50% Se3xsy
TONT BOITD T 20D 230D ) AoVED . 2 ool
ToR, 3 I 1 Ko\ “ NTRD 4 w0
X TRTBE000E oA T RORT0 4 F0ne:
sednent Sometis me ROVED 8 o0nsh
19,0888, Sms A0es, AL 50,000

SAFT 52 TOMUY, L0t Bah Besadhod ( Even pace ) POT 0L SmTAGRNm:
FRRA. HOY. TowIneh e cb:-acﬁ@ﬁdaadd.
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8  (a) Write a note on Non-Performing Assets in banks.

(b) A product is currently manufactured on a machine that is not fully depreciated
for tax purposes and has a book value of Rs, 70,000. It was purchased for
Rs. 2,10,000 twenty years ago. The cost of the product is as follows : °

Unit cost ( Rs. }

Direct Labour 28.00
Indirect Labour 14-00
Other variable overhead 10:50
Fixed Overhead 17.50

Total 70.00

In the last year 10,000 units were produced. It is expected that with suitable
repairs the old machine can be used indefinitely {n future. The repairs are
expected to average Rs. 75,000 per year.

An equipment manufacturer has offered to accept the old machine as a trade-
in for a new equipment. The new machine would cost Rs. 4,20,000 before

allowing for Rs. 1,05,000 for the old equipment. The projected cost associated
with the new machine is as below :

Unit cost { Rs. )

Direct Labour 14.00
Indirect Labour 21.00
Other variable overhead 7-00
Fixed Overhead 22-75

Total 64-75

The fixed overhead cost is allocation from other departments plus the
depreciation of the equipment. The old machine can be sold for Rs. 50,000 in
the open market. The new machine has an éxpected life of ten years and a
salvage value of Rs. 20,000. The current income tax rate is 50%. For tax
purposes, the cost of the new machine and the book value of the old machine
may be depreciated in ten years. The minimum required rate is 1b%. It is
expected that future demanc .: the product will stay at 10,000 units per year.
Should the new machine be purchazcd 7 Ignore capital gains tax.

PV of annuity for nine years is 5759 and PV for tenth year is 0-386 at 10%,
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8. (A e0tMed) BROlETaEd tIagnd et iy e e LUl
(b} 2,03 CCFTIE, FUFION LI WO 3435:\.:.2‘_ SO ERAZAS I PR S HILE S avalet s M- DT AT
G\l eaﬁ&)ocﬁ R@gechs;, Fpeemh 3fde, T3, 8TT U8 wie s o4 Y0000
ejhdu:ad e3 CHOZTRy, wFH P, THRENY oz cﬁ,@ 2,10,000 3¢ D0elmenng: . o3 n

"ﬂ{, B BgoBos Tt

P g, (do.nvy )
T3, cord | 28.00
CateflS i ANIZTAS 14.00
=30 63,3 ey, 10.50
3 0 doeed o, 17.50
o3 70.00

]

500 SHE. ¢ 0208 10,000 PUBNE;, euIDAR. ¢ 003, ¥, OFON
X, 3,80, sl Imh eI deend, WOXZ T Kot A0, neend. oxeon .m;:;?z-'
gn. 75,000 &nw &:.docs: e Rdapiiial
2,0, TAFS SROTH T LoFET, INcHER0R BRX WOTTT, RO TRomnEy. W
03033 23 B, 1,05,000 <o SOMeasss TwE, VAR 0T WS T 4,20.000 =HC0ED
! B% 0308, Bo0DAR odneem 3y, & 0e30RNHTT.

g S, (ep.ne )

3,8, oo 14.00
Tdoes, THB 21.00
<30 2,0 et 2d, 7.00
5,0 2oed g, 22.75

o3, 64.75

A;d e 23 7 DTy, BT To3nert ToueAT ©o3), 0eZ W XTIYA KeLETTAS. e

cdaoSﬁab one. 50, 000 8, T8, Snowed 00, ﬁnd&ahd a‘iﬁ"‘ OOZT WETETITL NI,

I, deﬁfJocb noes, ﬁ@’aﬂd ms; mmd ‘*5’3&3 { Salvage value } d«t 20,000 ©hI.

B%0.8 o 3o 2505y 50%. 301 L0E BROT BAK GRoTT T, W, TE WoAT T3
b R T

-, BB, IRENOM TEw 'a'ﬂcd:a&a“hd e a‘mqj mosy 10% dﬁu..u RS SR
YOB R CS zieasom TobeE 10,000 JRsndond 208 ZRNT. Tpx CRLOZRT, xR ¢ s ?

uoc!m-# orihinficlolaioveinviicaiolglob ik plerash
WO, T[IRENER J[ARER smEPony ( PV ) 5759 AT W8, W e T
10% =03 0-386.

AL
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COMMERCE AND ACCOUNTANCY
Paper II
Time : 3 Hours | { Maximum Marks : 300
INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified { English or
Kannada ) in the Admission Ticket issued to you, which must be
stated clearly on'the cover of the answer-book in the space
provided for this purpose. No credit will be given for the answers
written in a medium other than that specified in the Admission

Ticket.

Candidates should attempt Question Nos. 1 and 8 which are
compulsory, and any three of the remaining questions, selecting at

least one question from each Section,

All questions carry equal marks,

QL Towad s B0, 08 XpsAng BB URmo3cuRy, T2 @I daded ITE).
TR ETTA,
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SECTION - A
1.  Write short notes on any three of the following in not more than 200 words each :
(a) Goal Displacement
(b) Project Organisation
{c) Leadership Styles
(d) Power Tactics.
9. Critically appraise the systems approach to organisation.

3 What is the concept of Organisational Change ? Why most of the people in the
organisation resist change ? How do you think the resistance to change can be

avercome ?

4. Define and distinguish between Theory X and Theory Y of motivation.
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Ten - &
b 8 8¢RS CSRRTRETR Teck, TBconEs, 200 ITNOM Doeomed w LT woRE:
(a) 00D & &9030d ( Goal displacement )
(b) TocleesTe Xogeid ( Project organisation )
(©) Toehed,n 20
(d) wchrass, FeBe, ( Power tactics )

2. XomogtiRnt &,Tmy, wIenid ( System approach to organisation ) 035 NFTEI, FiTA
RN,

3. FTAE TOTFEAD TJ0IQN D0TTeRD ? Bedy, wAUY womd XoF o), IM,N TOTZFINTD,,
QuRpREY 7 HORIrud Hdeegdody Hert Bocwddd,Bomd Mew) 39aind 0 ?

4. Weorod Aey,08 X X, AT 03 Y v, A0eLY By, &30, XT0A.
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SECTION - B
5 Write short notes on any three of the following in not more than 200 words each :
a) Workers' Education
(b) Scope of Industrial Relations
(c} Outside Leadership in Indian Trade Union
{d) Labour Court.

6. Has collective bargaining flourished in India ? If not, what are the reasons ? How

can you make it work in India ?

7 Discuss the preventive measures for industrial disputes at the Unit level and

beyond the Unit level.

8. “High absenteelsm and turnover are the indicators of poor industrial relations in

Indian Industries.” Comment.
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5. & AR cInTHoewcn wwod, Tactoorss, HERD 200 TN o8 LiFed 2000WD:
fa) BoxmUS g
[B} 8,0E WogT NV 8 S, [ Scope }
fc) 08 o, et Koghedd) & Xad frunhdd,
{d) nmi—“ﬁ Ty, dnecd { Labour court )

6. NUIDE, MplE Wk I 00 JHFH3 D 7 we mad swwendesy 7 nodnd,
33y, Bent gant Soededs 7

7. PpuS RT WO, PE Sy Lotd Bedr §mdE JSvENY AITNCHY IRAFAYE, K03
LUF R

8. 'giusesd BrDIndd &L oI 3 Absenteelsm ) 303, .43, Swoetd (Turnover )
MODY,T by XOWoPNY Katderivy.” LINFA.

295
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